Number of Events

le-3jlpmiss Data

; sig : 100%
20
10_—

— L

— T ]

ol o TR T [

100 200 300

Mt(j3,pmiss) (GeV)




Number of Events

157

10

O1

le-3jlpmiss - Data

sig : 100%

117 |

JHE L

1 2
MINAPhI(],pmiss) (radians)




Number of Events

W
)

N
)

=
o

le-3j1pmiss Data

} sig : 100%

- | L

: SOLS 1

I Y e e [
500 1000 1500

M(W,j2,]3) (GeV)



Number of Events

40

30

20

10

le-3j1pmiss

Data

sig : 100%

T —1I I 1 L d
I ¢ |

|
1

¢
100

2p_(GeV)




Number of Events

=
o1

=
o

01

le-3jlpmiss Data
:_ sig : 100%
o lﬂ 1 l 1
o L TR A O S s LA vt I o
0 50 100 150

W P (GeV)




Number of Events

N
o

=
o

le-3jlpmiss Data
sig : 100%
H ﬂJj L
| [ 111
R SR 0 0 O O Yo s 0 B B s P
100 200 300 400

Mt(e ,pmiss) (GeV)




Number of Events

= = N
o1 o o1 o
T 1 | T T 1 | [T 1T 1 | [T 1T 1 | 1T T 1

o
oL
N

le-3j1pmiss

Data

sig : 100%

—
—_—

—e
—@

1T,




Number of Events

40

30

20

10

le-3jlpmiss - Data

sig : 100%

Sl

[ [ 11
* |
RN T

1 L
500 1000 1500
M(W,]1,]3) (GeV)




Number of Events

=
o1

=
o

le-3j1pmiss Data
5 sig : 100%
E i

50 100




Number of Events

15

10

le-3jlpmiss Data
5 sig : 100%
(IR RN

50 100

clusteredObjectsRecoll p. (GeV)




Number of Events

30

N
o

=
o

le-3j1pmiss Data
- sig : 100%
NI
- T 1]
_ e 1
. m} | 7 LI e B o
500 1000

M(e,j2,j3) (GeV)




Number of Events

le-3jlpmiss

N
)

=
o1

=
o

Data
sig : 100%

o——

1
500

1000
M(all) (GeV)

1500




Number of Events

le-3jlpmiss Data
: sig : 100%
30~
20/
10
L [
I T =
O_ T S I e e B
200 400 600 800 1000

M(W,j3) (GeV)



Number of Events

10

le-3j1pmiss

Data
sig : 100%

|3 ¢ (radians)




Number of Events

le-3j1pmiss Data
10l sig : 100%
el
B

]2 @ (radians)




Number of Events

=
o1

=
o

le-3j1pmiss

Data
sig : 100%

o

T,

o
L e——i

A

AR(j2,j3)




Number of Events

W
o

N
)

=
o

le-3j1pmiss

1

J

]

Data
sig : 100%

I

|;I|l;|’_T_\||_T?| 1T ?

T 1

500
M(W,j2) (GeV)

| |
1000




Number of Events

le-3j1pmiss

N W
o o
[ [ [ [ | [ [ [ [ | [ [ [ [ | [ [

=
o

—e—

]

Data
sig : 100%

l
\
1l
| el ¢t/ .L‘H LY

o
O

200

400
M(e ,j3) (GeV)

600




Number of Events

le-3j1pmiss - Data
30 sig : 100%
20
10-
: IM
ol S 2 W T e S
500 1000 1500

M(e',j1,i3) (GeV)



le-3j1pmiss - Data

=
o

Number of Events

sig : 100%

|

| I

ol el P T
+JTIJ l|l JJ l Lo

| | | | | | | |
0 1 2 3
AQ(1,)2) (radians)




Number of Events

le-3j1pmiss Data
301 sig : 100%
20_—
10—
: L
: S O
- Lyl
O | | | | s 1 N R N I A S Y
500 1000 1500

M(W,j1,j2) (GeV)




Number of Events

N
)

=
o

le-3j1pmiss

Data
sig : 100%

M(j1) (GeV)

SR

| i i IS

I NN NS AT SN NNTANN 1 1 A AN et RN {HN SN SN N AN AN ST NI | MO
10 20 30 40 50




Number of Events

40

30

20

10

le-3jlpmiss Data

. sig : 100%

4

- I

i ll %W_h; 1 %I * -
500 1000

M(W,j1) (GeV)




Number of Events

= =
O o o1
L N R I B B

o
O_I T |

le-3jlpmiss

o—

L

Data
sig : 100%




Number of Events

10

O1

le-3j1pmiss

Data
sig : 100%

i




Number of Events

10

O1

le-3j1pmiss

Data
sig : 100%

i




le-3jlpmiss - Data

W
)

N
o

Number of Events

=
o

sig : 100%

1] |
?1%———Tf_j—l

L o | o
- T Y I TR N A I

o
)

| | | L 1Lt T
500 1000 1500
M(e .,j1,j2) (GeV)




Number of Events

N
o

=
O1

=
o

le-3j1pmiss

fik

| 1111

Data
sig : 100%

T
L DL

Hjillllll |

]
500

1000

1500

M(e ,jl1,j2,j3) (GeV)




Number of Events

le-3j1pmiss Data

5 .

; sig : 100%
10

] Rt f |
g G

0 T 2 3

A@(1,]3) (radians)




Number of Events

20

15

=
o

o1
T T

o
T

le-3j1pmiss - Data
sig : 100%
o el
I ‘ [] |44 ‘
0 1 2 3

AQ(2,]3) (radians)




Number of Events

157

10

o1
T T T ]

le-3j1pmiss - Data
- sig : 100%
gt 0
I - T ] T
|‘ ] l TUL Il
0 4 6
AR(e ,j2)




Number of Events

40

30

20

10

le-3jlpmiss Data

- sig : 100%
-] {

-]

: T

_ - l—L—I | =a t h
0 500 1000

M(e',j1) (GeV)



Number of Events

01

le-3j1pmiss

=
O
— |

10

* Data

sig : 100%

_[..." . ".. [

:||_T|;|“ “ | |“ | “| “ %||

0 2
minAR(e ,j)




Number of Events

W
o
[ [ [ [ | [ [ [ [ | [ [ [ [ | [ [

N
)

=
o

le-3j1pmiss

@o——

T l

Data

sig : 100%

|

* I
¢

I e IR

-

400

|
600 3800

M(e',j2) (GeV)



Number of Events

10

le-3j1pmiss Data
] sig : 100%
A R




Number of Events

10

e detEta

le-3j1pmiss Data
] sig : 100%
A




Number of Events

=
o

le-3j1pmiss

Data
sig : 100%

0 1 2

A@(2,pmiss) (radians)




Number of Events

01

=
o1
|

—
o
[

AEta(j2,j3)

le-3j1pmiss - Data

: sig : 100%
! INNeE
I\ |J [ J J | | % % |
0 4 6




Number of Events

N
o

=
o

le-3jlpmiss Data

: sig : 100%

o

B [ ] 71

e Lon

T L R
200 400 600

sumPt (GeV)




Number of Events

=
o1

=
o

le-3j1pmiss

 —

Data
sig : 100%

T [ ] |
| ' e

-

1 2

Ag(e ,pmiss) (radians)




Number of Events

=
o

le-3jlpmiss Data

B sig : 100%
N T
]

o 1 2 3

Ag(e ,j2) (radians)




Number of Events

le-3j1pmiss Data
201 .

i sig : 100%
15
101
5

: Ty [ Nl 1

| | | ] s TR T | |

0 100 200 300

Mt(j2,pmiss) (GeV)




Number of Events

le-3j1pmiss Data
10l sig : 100%
el

il 2
IR B R




Number of Events

le-3j1pmiss

10~

Data
sig : 100%




Number of Events

10

=
o1
— |

o1
|

_1e-3j1pmiss - Data
: sig : 100%
ST Sei
FEA LA A
5 10 15

M(j3) (GeV)




Number of Events

le-3jlpmiss Data
10l sig : 100%
L S

angle(plane(beam,jl),plane(j2,;3)) (radians)




Number of Events

30

20

10

le-3jlpmiss Data
: sig : 100%
- ]
i ST | j l
i P e U
e N S S S LA 2 e
-2000 -1000 0 1000 2000

W pz (GeV)



Number of Events

157

10

O1

le-3j1pmiss

* Data

sig : 100%




Number of Events

N
o

=
o

le-3j1pmiss Data
sig : 100%
" [ | 8 .
° ° T
GOy -
50 100



Number of Events

10

le-3j1pmiss Data

; sig : 100%

i S T
5o




Number of Events

10

le-3j1pmiss Data

; sig : 100%

— L T
5o




Number of Events

_1e-3j1pmiss - Data
15 sig : 100%
10-
o i
T L
iaa [T 1] l
oL—L — S R BRI
5 10 15

minMass(j) (GeV)




=
o

Number of Events

le-3j1pmiss - Data
sig : 100%

N T |

1 o |
0 1 2 3
Ag(e ,j3) (radians)



Number of Events

le-3j1pmiss

10

O1

Data
sig : 100%




le-3jlpmiss - Data

N
o

=
o

Number of Events

sig : 100%

OO

| | 1
400 600
M(1,)3) (GeV)




Number of Events

10

le-3j1pmiss

Data
sig : 100%

0
j1o@(radians)




Number of Events

W
)

N
o

=
o

le-3j1pmiss

T
—e

[ 2]

Data
sig : 100%

[ ]
[ |1 I 1
I SIS SR

T T T
| 1T | ?

200 400
M(j2,]3) (GeV)

600




Number of Events

=
o

le-3jlpmiss

Data
sig : 100%

|

uy

1
I

1

.2.

Ag(e ,j1) (radians)




Number of Events

le-3j1pmiss

Data

sig : 100%

1 2

A@(3,pmiss) (radians)




le-3j1pmiss - Data

N
o

Number of Events
H
o

sig : 100%

o——

|
]

T o

| |
L5 0 s |

| | |
200 400 600 800
M(1,)2) (GeV)



Number of Events

10

le-3j1pmiss Data
sig : 100%
i fRRiint
N TR

pmiss @ (radians)




Number of Events

10

01

=
o1
— |

_1e-3j1pmiss . Data

i sig : 100%
Sl N N

A DD o
0 1 3

atan2(APhi(j2,]3),+-(j2 eta-|3 eta))




Number of Events

30

N
)

=
o

_1e-3j1pmiss Data

I sig : 100%

I 7]

- |l 1

‘ L S S R =
500 1000

M(1,)2,]3) (GeV)




Number of Events

157

10

O1

le-3j1pmiss - Data

g .m...l.

sig : 100%

———

T

1 2 3
A@(j1,pmiss) (radians)




le-3jlpmiss - Data

N
o

Number of Events
|_\
o

sig : 100%

L]
\ \ Tl 'IT | |
b L le—e i

T R SR | N I A Y O T A I Y
100 200 300 400 500
Mt(j1,pmiss) (GeV)




Number of Events

le-3jlpmiss

Data

ok sig : 100%

15

5{ | [ ] n= w
N R £ [T A AR
075 10 15 20

M(j2) (GeV)



Number of Events

le-3j1pmiss Data
: sig : 100%
15~
10
5 |
AR Nl
AT} it
4 6




Number of Events

le-3jlpmiss - Data

30~ :
i sig : 100%
20
101~
I |
_ AR
ol 1 IR et S
50 100 150 200

i1p_(GeV)




Number of Events

10

le-3j1pmiss

o1
| T

* Data

sig : 100%

i

e @(radians)




Number of Events

40

30

20

10

le-3j1pmiss Data

: sig : 100%

L

B .

- ||

: \ [ H

i R S = 20 SN SR A K 1 s = B N
30 40 50 60

3p_(GeV)




Number of Events

15

10

le-3jlpmiss Data
: sig : 100%
: Al
; it
l I 1. ||
SR A RN |

Lo RIS S B

1.5 2 2.5 3

maxAPhi(j,pmiss) (radians)




Number of Events

le-3j1pmiss Data
- sig : 100%
100
50—
I | ] | | I
01 05 0 05

uncl P (GeV)




